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*Right indicates fy|| marks
*All questions are cg

Q.1) Solve any three of the foHowing

a)Write note On conservation laws angd engineering problems,

b)Define accuracy and precision.What are round off errors ?Explain,

C)What is 3 mathematical model?With the he
engineerr’ng problem.

d)Round-off 0.987250 correct to four significant figures angd find out
Percentage error.
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Ip of a flowchart,explain the solving of an

absolute,re!ative and
e)Find the truncation errgr and exponentia
for computation of first.six te

Define error 3ngd its types wit}

series given as, et
rms in expansion dbx=2.5
1 Suitable example,

= = -h
Sldx+ gl o 4
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Q.2)Solve any three from the following

15}
a) Find the root of the equation y3 *-11=0 using Bisection method in four Stages. -

b) Using Newton Rapshon method find the root of the equation if f{x)= 35inx-2x+5,

c)Use secant method to find the rooy of the eguation Cosx — xe? = .

d)Prove that A7— a-1

e)Using Newton Forward difference interpolation formula find f(8

f{
flUse Langranges inferpg
table:

Mfrom the following data

=8 from the followfng

Q.3)Solve any three of the following &
a)Use Guass Jordon method to solve thefollowin
2x1+3x2—4x3=1 2 5%

1+9X;+3X3:17 i “8X1‘2X2+X3='9
bjFind the solution o

Fthe following system using Guas®s giffe|
3x-2y=5 P XE2y-2=0) =2y 4+7=-1
c)Solve &

g —
dx X Y=Ly0)=1p
d)Solve following differe
h=0.2 ang n=5.

e)Given :% =1+ y2? where

fourth order formuyla.
5.
f}EvafuateL
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¥ Taylor's series method an calculate ¥(0.1) and y(0.2).

X = y2 Where ¥(0)=1 ang

ntial equation by Euler’s rnethod.g%

¥=0 when x=0.Find y(O.Z),y(OA) and y(0.6) using Runge-thta’s

Zlogx dx by Simpsons’s 3":7 rule,

Q.4)Solve any three of

the fol‘lowing
a)Fit a second deg

ree of parabola of the following data

(15)




c)Obtain a regression plane by using multiple linear regression to fit the following data

s

X 0 1 & 13 & s
[Z 1 2 3 BEN 58 18
v 13- 17 19 21 l26 | 30

d)Two tailors A and B earn Rs.15 and Rs.20 per day respectively.A can stitch 6 shirts and 4 pants
while B can stitch 10 shirts and 4 pants per day.How many days shall each work if it is desired
te product (at least) 60 shirts-and 32 pants at a minimum labour cost?
e)Draw graph with help of the following data
Maximise: z=3x,+8x,
Subject to: 3x; + 4x, < 18
Ay + 5%, = 21
: Xy 20,x:20
f)Find the regression coefficient and.regressiuon line X on Y and ¥ on X with the help of following -

=
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data

X v

70 |62 |

(98 a7 ]

58 53

s |60

54 55

0 |e8 |

60

52
Q.5)Solve any three of the followi
a)A random variable X fcllow a

(15)
jstribution with mean=2 and variance=1.2.Find

i)P{x=1} ii)P(X=1) iii)P(
b)A random variable X follow a expon ibution with mean =5.Find
i)Median ii)Variance of distribution ii 2
c)Consider the probability distribution of a follogfin ndom variable X.
P(X =x) = 7@(3)*‘ (45)71 ,x=0,1,2,....,7=0®wisefind:
i)P(X<2) i)P(X>3). . iii)P(X=3)
d) Following is the c.d.f F(x) of discrete r.v.x. .
X 1 2 3 a s K

F(x-x) |02 1037 [o048 [062 |085 |1

1

i)Find p.m.f of X. ii)P(2< X < 5) iP(X < 5/X > 3)
e) The number of complaints which a bank manager receives per day is a poison random variable
with parameter m=4.Find the probability that the manager will receive.
i)Only two complaints on any given day.
ii)JAt most two complaints on any given day(use e *=0.0183)

f[The p.d.f. of continuous random variable X is given by f(x}:f%4 ,—2 < x <4 = (0 otherwise.Find
iI)P(X < 1) iP(—1 < X = 1)



